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0556203233 tana g [oua talas]

(1) JIssdl
How many electrons are dad Uiy 4 PU) el g i) ae oS
needed to produce a charge of ? (1C) L _)ada

(1C)?
6.24 x10%c 3.20x10"c 6.60x10"c_ "1.60%10" c

solution

2) )zl
If the number of negative charges O aSh Aadlud) clial&d) aae ols 1)
is greater than positive charges, Cacaad) 138 Aol La Ay gall
what is the charge of this body?

-~

Lilbgs il Geadia 8 At Liny doa ga diad

(Electrically

neutral) (Not charged)  (Negative charge) (Positive charge)
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(3) Jismad
If the number of negative charges Cr B8 Adlad) clialdd) s S 1Y)
is less than positive charges, what Camall 128 diad La cdaa gall
is the charge of this body?
(Electrically _ .
Negative charge) (P h
neutral) (Not charged)  (Neg ge) (Positive charge)
(4) J)uad)
The substance that lacks Gus alig dd) ) ,ands Al 3aladl
electrons has a charge? fleiiad
LilagS Jalata (g b Al disd A ga Adnd
(Electrically _ -
Negative charge
neutral) (Not charged) (Neg ge) (Positive charge)
(5) sl
The atom in its natural state? fdphll Ll 85 )l
b st oSy ¥ adia dalles diad daa ga Adad
(It cannot be _ -
determined) (Not charged) (Negative charge) (Positive charge)
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(6) JV s
The substance that lacks b isall 558l £ 58 La, s glaall JS) B
electrons has a charge? Camad) Ao

A3 yasd Sa Y o g da gy Y ial) 5 g8 AL 3 b Adad
It cannot be There is no Attractive The force of
determined. power force repulsion
(7) J\smad
What cargoes are transported in JU dles 8 JEiE Al cliadl) A L
the freight forwarding process? faliaddl
dua gl Ldbal) dtlaly A gall
(il Astyy) (<l g 5 saill) (<l 5 _5SYY) (<l s g_al)
(Positive (Negative (Negative (Positive

(electrons)) (neutrons)) (electrons)) (protons))
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(8) Jisdl

Charge can neither be created
nor denied, but rather
transferred from one body to
another. Is this a law?

4Lict) Jads slaSall ddasid
(Save mass) (Quantized
charge)

Cra SRy cduaatiad ¥ g 80 Y Adadl)
TO pai s | AY aca

43Ual) Jada ddanid) Bda
(Save energy) (Save the
shipment)

(9) Jsuad

The number of electrons inside
an atom is an integer only. Is this
text law?

dLigt) Jads slasal) ddaidy
(Save mass) (Quantized
charge)

4|Page
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(Save energy) (Save the
shipment)
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(10) J) sl
How many electrons are removed (e Wall)) cuad Al @li g A<ty aae s
from a positively charged QLS 1) A g Adads 93 (A4S LS

electroscope if its net charge is  { (7.5x10711C) 4diad dla
(7.5x10°") C?

1.2x107° 2.1x10°° 7.5 x 1071 4.2 x 108
solution
(11) Jsadl
What is the charge on an A Al gS CilES e B g gal) Adadidl La
electroscope with an excess of 4,810 Ald <l g S (pa B0 ) daS
4.8x10" electrons? £ AL)
7.7 x107° 3.3 x1073° 4.8 x 10" 4.8 x10™°

S|Page
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solution
(12) JVigmsd)

Which of the following charges a4 980 o)) Sy AN Clia ) (a6
could be the charge of a body? T
5.2x107°C 8x10C 3x107°C 4.5x 10 C

solution

6|Page
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(13) JViswad!
A balloon was rubbed with a Gald (gl (o dakaly (gl el o
piece of wool, so the balloon Al Ay U gandia ¢ ol
became negatively charged ; (2.4x107 " C)
(2.4x107® C). What is the number ~ L¢aiS) gl LghaBd Al <l g ssty) 245 oS
of electrons lost or gained in the T guall Aadad

piece of wool?

15 uuss)
O 9 RS

(Gained15
electrons)

T7|Page

15 LYY 288 Cavuis|
v 2.4 X 10718¢c 2.4 X 107 18¢C
G9Asd)

G9 A G9 A

(Gained
(IOSt 15 (LOSt 2.4)(10_18 C
electrons) 2. 4x108 C electrons)
electrons)
solution
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(14) Jlismd
Rub a piece of wool on a plastic i guall (e dadaly AABL) (e (Gl
rod. The rod gains 8x10%° 1020x8 e il 4] gled) uusla

electrons and becomes charged.  fsbed ciguall Adad Jgo U gadia gruaal 9
Is the charge of the wool equal
to?

+128 C -2x1074°C -128 C +5 x 10%° C

solution

(15) Jsad)
How many electrons are needed S Jgaall 4 DU QU{JSSJ\;\ e aS
to obtain a charge of (-2C)? )it ddad (-2C)¢

1.25 x 10" 1.6 x 107" 1.6 x 10" 2

solution

8|Page
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(16) JIssll
The figure shows a blue ball dind Jaad pl8 58S JSA) i g
carrying a charge of (+6.4x1078 C) (+6.4x107% C) #)an 58 (uadli o
and then touching a neutral red 3,8 4dad Caal Laglladi) 1y g cAlalaia

ball. After the two balls #1230) (+2.6x107F C). 58I A La
separated, the charge of the red Teld )5

ball became (+2.6x1072 C). What
is the charge of the blue ball?

o8

+3.8x108C -6.4x10%C -3.8x10°8%C 0C

solution
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(17) Sl
How many electrons are removed (Al ) caad Al il g S aae oS
from a positively charged G 1) A g Aol gd (Al ¢S lds
electroscope if its net charge is i Adiad Ala
(7.5x107'°C) ? (7.5x107°C)?
2.1x107° 7.5x 1070 4.2x108 1.2x 10~°
G9As) 9 A 9 A O9 A
solution
(18) J sl
What is the charge of a body that L LPWER S R0
has lost (3.5x10° electrons)? 9(3.5%10°019.4< )

+5.6 x 107 C +3.2x10™C -5.6 x 107 C -3.2x10C

Solution

10| Page
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https://chat.whatsapp.com/JNza3eu6XcMDfeVskxjSAS?mode=ems copy t

https://t.me/+p4NGWoohYcMxNmIO0

Gl A Jedall A ghas daida idl) o bl

11|Page



